B mej L =Yp)  # heidgss wod p
#Q(/ 7 /C//;/‘/) oy

9@5 7 /W// Jvnotr

Sl 2= (s =14
2Kk =1 wlty
C/[m/ y /ﬂﬂ m =4 Wﬁw
2! /M
5 j&/(Q/ m) =
Ww)—f

i) o 9 by 1o la) -2 e
/ cor G =1 mod 4

\ Mﬁ, Lk 4= 1wl 4
&PKMWW&%Q\ t

)

P eff /iGW/ a /7 Jc//a/‘/) =4 = W/éf@) /@
MZ/Q/ w)=1 = m/rr/a)/@/m) T







Zg, =112 wj
L4434 md S = WM}/’) "1]
— -
7 =0 F 1 md<
) =4 £ 7wl
Z"://gsfmr = Wﬁ«m”f
|

S-1 3@ - Duery b

ol S



W L:%mo%/S ¢

AR A ol 4 =14l -er)

/Q(’Za/' 1 19, fg/‘ zh 4@9/'/%9/ = %i

VD2 Yo bo M My Mo = A4 NI ol 1

ofAINTIHRI = NI JARA o



&/ =7 W/?{n}l

W’//' (m ?[ﬂ/) MQ//L

i



